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QUESTION 1

An engineer is designing a wireless network to support high availability. The network will need to support the total
number of APs and client SSO. Live services should continue to work without interruption during the failover Which two
requirements need to be incorporated into the design to meet these needs? (Choose two.)

A. redundant WLC

B. controller high availability pair with one of the WLCs having a valid AP count license

C.10sec RTT

D. back-to-back direct connection between WLCs

E. WLC 7.5 code or more recent

Correct Answer: BD

Reference:
https://www.cisco.com/c/en/us/td/docs/wireless/controller/technotes/7-5/High_Availability DG.html#pgfld-44074

QUESTION 2

As part of a wireless site survey in a hospital, an engineer needs to identify potential Layer 1 interferers. In which two
areas is the engineer most likely to find sources of 2.4 GHz and 5 GHz RF noise? (Choose two.)

A. magnetic resonance imaging

B. kitchen

C. Gamma Knife radiation treatment
D. X-ray radiography

E. patient room

Correct Answer: BE

Reference: https://www.ciscopress.com/articles/article.asp?p=2351131andseqNum=2

QUESTION 3

A network engineer is troubleshooting connectivity issues between two WLCs running 8.x code in SSO mode and finds
that the redundancy management heartbeat is failing. Which packet type must be filtered for heartbeats when taking a
capture to verify communication?

A. RSTP

B. UDP

C.TCP
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D. ICMP

Correct Answer: B

QUESTION 4
How are mobility groups created, excluding mobility anchors?

A. The WLGs do not have to be of the same model or type to be a member of a mobility group, however each member
should be running different software versions.

B. A mobility group does not require ell WLCs in the group lo use the same virtual IP address.

C. Each WLC must use the same mobility domain name and be defined as a peer in each other\\' s static mobility
members list.

D. If WLCs with HA SSO are deployed, each WLC in the WLC HA pair is considered separately as a mobility peer.

Correct Answer: C

QUESTION 5

An engineer is designing a wireless deployment for a university auditorium. Which two features can be used to help deal
with the issues introduced by high AP count? (Choose two.)

A. TSPEC

B. RXSOP

C.TPC

D. LSS

E. DFS

Correct Answer: CE

Reference: https://www.cisco.com/c/en/us/support/docs/wireless-mobility/80211/200069-Overview-on-802-11h-Transmit-
Power-Cont.html
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